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Enstreretion :

,{/lquestions ofPARl" - A are compulsory.

PART _ A
Marks - 25

1" ehe$se ilro appropriate option : 1x10:10

(i) &'hieh ot" ti:e following pairs are similar ?

{a} elass and object

(b) cEass and sffucture

(e) *la"ss and union

{d} *:,bjeet aad stmcture



*a

(ii) When a funstion is defrned imside a e[ass'

the function is called

(a) Inside funetion

(b) Class functron

(c) Inline flrnction

(d) Interior firnction

Which feahrre of OOP illustrated'tlre code

reusabilitY ?

(a) Abstraction (b) E'ncapstqtation

(c) Polymorphisrn (d.) lnhmitanee

Which type of eonstruetors r[* nett have a

reflrn tYPe ?

(a) Default cCInstruet'-?r$

(b) Parametric consir*ct*rs

(c) CoPY c*nstructors

(d) Constructors do not have a return $pe

(iii)

(rv)



t{

A statio naember funotion can acoess

(a) both etati* and non-static member data

{bi static member data onlY

ici non-sfatic rnember data onlY

{.di ncither static member data nor non-

utati* nT ember data

Regnrding a destructor which one of the

tbllowing is true ?

q.a) a destnrctor helps to create an object

(b) a des&sctor must have a return data type

{e) a dcs&rrctor is called by the compiler

(d) s destructor can be overloaded

{vii} Hegarding inheritanee which one of the

fullo+veng is true ?

te) fn]ieritanee provides the mechanism to

e"€ei.$e of existing codes

{!r} Obje*t of sub-class eannot access the

prt*vste, rnenrbers of the base class

i4$/e&5*5 {3) ['llurn over

(r*

iu)
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(c) Parametric eonstruetor of sub-c[ass

cannot pass argunnents to that of tfue

base class

(d) None of ihese

(viii) Regarding function overriding which one CIf

the following is true ?

(a) it requires the eoncept of parlyrnorphism

(b) member functicrr of the base eX*ss to
be overridden in the sub-class cnust be

declared as a virtual mernber fumaii.on

(c) base class construetor can be ovsrridden

(d) overridden rnernbsr function of ttre sub=

ctrass redefines the funetionaliry

(ix) How run-time palymcrphisilss are
implemented in e++ ?

(a) lJsing Inheritance

(b) Usrng Virtual f,unctio::s

(c) Using Templates

(d) Using Inheritance and llrtual fun*ti.ons
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(x) \l'llrat will be the ou$ut of the following

eode ?

{I

int a;

a:5+3*612}

eout<<a;

\
1

ia) a5

(e) 14

(b) 11

{d} None of these

2. \}'rite *Xown whettrer the foilowing statements are

tzue or tblse : 1x5*5

{ci a pointer is a static data sffuc'iure"

{b} A class is a data ffPe.

t,*i eormhructurs and destructors must be defrned

in a slass by the progralnmer.

{d} Dynamie data structures are not supportetl in
("i+,

(e) $ub*class pointer can points to the object of
the base class.



3. Fill ia the btanks ; 5

(a) A class puts togetfoer arld -'**"*
as a single entitY. 2

(b) members of a elass are accesslble

by ihe outsidcr of the elass. 1

members of a elass are *fuarabla bY

all the objects of that class. t

(d) Narne of desfiuctor of a elass is preceded

by**-: I

4" Answer each of &e fotlowing questions in a single

(c)

word/sentence : t x5:5

(a) Which feature of GOPS focuses on funetic-

nality of objects hiding details'

(b) Name the operator used with 'ein'"

(c) Which access specifier bloeks the unautho*

rised access of members of, a elclss ?

(d) What is a friend funetion ?

(e) What is the nafiIe of the parameter ussd in

templating a frlnetion or a elass ?

{6}



PART - B
Ma'rkh -- 45

Instrgction :

PAK["* B consists'rf 6 questions each of,whieh

carries 9 marks equatly' Out of 6 questions

amswering any 5 Welquestierns are compulsory'

1. Explalnbrieflythe rnaintbatires ofO*PS' Write a

C+ + program to ov*rioad '+' brinagy arithmetio

op**i*r". 4+5:9

2. What do y*u mcan by data rype ? Whal |s 
-'he

inapoffianee of datatype in prCIgrarnming ? Diseuss

abor:t the basic and t'ser defined data t'vpes used in

2+2+5:9
C++.

qa) Diseuss about the benefits af inheritsaee" 3

{b} I#rite a e+i- program to find"th* arya ayl

eireumrference E:f a eirclc irnpteirrenting the

eoneePt of elass and object ' 6

Differentiatebe,tweenearlybindingandtate
binding. Write a e*"+ program to realise the

eoneept of pure virtual function' 3+6=9

. i;i.:::::

n
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5. $Ihat is a template ? How does this holp the
prCIgremnner in programming '! Wnte a e+-+
program to add any two number *f mry gpe
realising the concept of tempiate fr:nction and

(s)

2+?+5:9template class"

(d) Absfact Class.

6. \Yrite short notes on {anr,' tkrce} : 3 v 3*9

(a) Operatoroverloading

(lr) Dynarnic tuIemory AXlocation

(c) Scope resolution operator

r48/C0-5051O0M(0) zsqc)


